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&DWHGUiWLFR�GHO�5&60�9LFWRULD�(XJHQLD�GH�*UDQDGD�
�HV�QDWXUDO�GH�HVWD�PLVPD�FLXGDG��GRQGH�WLWXOy�FRPR�
3URIHVRU�VXSHULRU�GH�SLDQR�\�UHDOL]y�HVWXGLRV�VXSHULRUHV
�GH�FRPSRVLFLyQ��WUDV�OR�FXDO�ILQDOL]y�XQ�SRVWJUDGR�
FRQ�(GRDUGR�7RUELDQHOOL��IRUWHSLDQR��HQ�OD�6FKROD�
&DQWRUXP�%DVLOLHQVLV��6XL]D���

&RPR�SLDQLVWD�DFRPSDxDQWH�FXHQWD�FRQ�XQD�DPSOLD�H[SHULHQFLD
�FRQFHUWtVWLFD��\�KD�WUDEDMDGR�HQ�GLYHUVRV�FXUVRV�LQWHUQDFLRQDOHV�GH�FDQWR�
DFRPSDxDQGR� ODV� FODVHV� GH� UHFRQRFLGRV� SURIHVRUHV� FRPR� *HUG� 7�UN�
1DQF\�$UJHQWD��-DQHW�:LOOLDPV��&DUORV�&KDXVVRQ��HWF�

(V� GLUHFWRU� GHO� FRUR� GH� OD� 2&*�� GH� OD� 6FKROD� 3XHUL� &DQWRUHV� GH� OD
&DWHGUDO�GH�*UDQDGD��PLHPEUR�\�DUUHJOLVWD�GHO�RFWHWR�YRFDO�6LHWHPiVXQR�
GLUHFWRU� PXVLFDO� GH� OD� FRPSDxtD� GH� ySHUD� /D� 9R]� +XPDQD�� IXQGDGRU� \
GLUHFWRU�GH�1XPHQ�(QVHPEOH�\�UHFLHQWHPHQWH�REWXYR�HO�SUHPLR�D�OD�PHMRU
GLUHFFLyQ�FRUDO�HQ�HO�&HUWDPHQ�&RUDO�GH�(MHD�GH�ORV�&DEDOOHURV���������DVt
FRPR�HO�*UDQ�3UHPLR�1DFLRQDO�GH�&DQWR�&RUDO��������DO�IUHQWH�GHO�-RYHQ
&RUR�GH�OD�2&*��GHO�TXH�WDPELpQ�HV�VX�IXQGDGRU�
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https://forms.gle/eH397fzteTwuoHAt6



